Home Learning – Wednesday 24th February 2021
Maths

First have a go at the questions on the presentation. Then choose either A, B, or C. Then complete as many challenge questions as you can in 15 minutes.
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Challenges:
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ANSWERS
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Challenge Answers
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The sum of three fractions is 2%

The fractions have different
denominators.

All of the fractions are greater than or
equal to a half.

None of the fractions are improper
fractions.

All of the denominators are factors of 8

What could the fractions be?
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Eva is wrong
because she has
added the
numerators and
denominators
together and
hasn’'t found a
common
denominator. The

correct answer is
17
20
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Possible answers:
1 n 4 " 13
18 18 18

1+5+ 5
9 9 18
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Possible answer:

3 12 2

Other equivalent
fractions may be
used.

Example story:
Some children are
eating pizzas. Jack
eats two thirds,
Amir eats four
twelfths and
Dexter eats half a
pizza. How much
pizza did they eat
altogether?
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Eva is attempting to answer:

Do you agree with Eva?
Explain why.




image5.png
Jack has added 3 fractions together to
get an answer of 1—;

HEEEENEERENRREENEE

What 3 fractions could he have added?

Can you find more than one answer?
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Annie is adding three fractions.
She uses the model to help her.

What could her three fractions be?

How many different combinations can
you find?

Can you write a number story to
represent your calculation?




